FMAPARAPRRE UL EERSEHT HE
® E BB RTINS IR R P2 2 ARAR 0208

-~ F g CHEIABENYT O OMELCREE S RAES FMERZHA > T IEEITGERER 5 3
%ﬂA@%rW’ﬁéﬁ?ﬁﬁéo

SAPERE D AR E IR

Z o RPEE D A e

Iy

NI S EES T Y M DU S
TR 122010 180  $- HATH10:100 FAIA- 2R A T BH LA -
F LA

Ao YL 112# 040 240 ~112 £ 057 10 p o
(77 FRRaGEy Liepdira )
S FECARBRFECS (GREFIRIEARSY )
DN SRS - R LR £ SRS RAS VI
1B Bm 2 R R SRR
¢\w%%@
() st s B - h*2 2124 5 h 722104 > F-%-pch=h5i9 44246
Ao TR FFLAA A HeA T 27 L1224 10 4 (FHFED S 2D T LA B ARD K
A EB L FEESNEF )

(2 ) EHEATREHEHRAD S L 0 L B STE IR AT R 2 fi“#:p“

(Z)FRIAEI Rbh e pR BRI AV FREFET 2 h- - FEE 52T 4R G
LL%Q

-+ - ‘*Lﬁaﬁii%*{’f /Hwﬁ ’@J}.Fgﬁﬂ—”°

% OBF SRR AR
[- 1 FRAER
1’“&%’&’”#%%”“?5‘* vl FIRR B R EF S RIRR BE L o R AP SR
2 F AR A S TEP RN N }‘{grﬁ—:‘z,;fiflf,a;;q)—l}g% F‘E)‘F\g"f‘-"‘\»lﬁ‘PTﬁﬁ
PEERENEIEN MET O FEIFHE D A RTE RS
3F EAIH £ RF S R FREIR o U N (T N BTk o PR HIREE IR E -
At 5 R BT AW PG A R PR RAET 4
St a2 FM R FHES N RE ko (3 ¢ BRIk 7 A0 T {1 WS R ER e
RE G e
6.0 BRI FARLIF LR e e G 5> EFF L BTS2 Rt o 22 ¢ 32
BLiEEs- &L 5 R E PRISIREHLY - 2 Lo
TrHEFRGr/ERPEIGEEE 24Ny B4 ARITEFE -
(=12
1#%%’ﬁ#w%¢%%§-d%%pg¢ﬁ 14 s s BpkIRis £ AT F 0 F A REE
3 EIEE B R Bl ol s Y R



B4 LH AP RS 11§ ERSTRUT RE
T E B EATN R AR A ous

[FF] & &5 11 kg

414 410 408 401
1 (t) 4 5 () 8
-+ ) (TR G73)

(—) (2) (=) (1))
2 V) 3 6 (-+) 7
406 411 404 403
407 405

9

H@f (+—)
10 (+t) 11 13 (+/V) 14
409 402 413 412

[AF] %HFoaGER  RBEEAFZ & o
A

—+—) ‘

(+71)




FMABAFAFPRN ] F UL FERITERTRE
T EREITNIGEIREFR L o ias

p oy &= P R H-=x e s oS
1 08:40~09:20 | +~ 413 vs 412
4124(- )
2 09 : 30~10: 10 - 410 vs 406
6 14 : 20~15: 00 = 408 vs 404
4/25(=)
7 15 :10~15 : 50 - 401 vs 403
1 08 : 40~09 : 20 El 407 vs 409
4/26(=) 3 10 : 30~11: 10 > 405 vs 413
4 11:20~12:00 | “+ = 414 vs 406
1 08 : 40~09 : 20 = 414 vs 410
2 09 : 30~10: 10 -+ 404 vs 403
4127(z ) 3 10 : 30~11: 10 A 406 vs 411
5 13 :30~14: 10 1 408 vs 401
6 14 : 20~15:00 | -+ - 407 vs 402
2 09:30~10:10 | +:= 414 vs 411
4/28(1 )
6 14 : 20~15:00 | + = 409 vs 402
1 08:40~09:20 | +:= 405 vs 412
5 13 : 30~14 : 10 = 410 vs 411
5/2(=)
6 14 : 20~15:00 | + 7% 408 vs 403
7 15:10~15:50 | + = 401 vs 404
1 08:40~09:20 | —++4 A % vs C %
5/3(=) 2 09:30~10:10 | =+ B % vsD %
3 10:30~11:10 | = + - L4 2 vs - LBs




